= 1¥ EBif : 0755-82267222
G =ie oht + RYIFHIB AR N\ EMS TR 423455441 1-132
SUPER TOOLING MLt : http://www.supertooling.com

FISSORi 4 2R /&

PoEdERa  RISESZIE FRERENL

V
fo, FiSsO

ElS | BASE

FEHE | It -Fisso

Jagd-T-E(::pun
e 3 BASERFEEXTE
WRAKERTIEE. BEERX
IRIESCPRA A BC EAE R RIES (4
R Ao 5IEBASE (1 ) « Fine Adjustments ( #iE2EE ) . Sleeve ({FE ) =4

Sleeve ({AE ) 7EMEEEMMEPEMT , BRI LERSMIM ( Order no.J95.850 )



MR SEL

B & =
<
allis s2 s3 M SM MM DMM
W (N ) 300 600 800 1000 1500 2x1500
hig FF= Yes Yes Yes Yes Yes Yes
R~ (mm) 60x50x55 60x50x55 60x50x55 60x50x55 60x50x55 60x50x55
B2 M6 M6 M8 M8 M10x1.25 M10x1.25

RS 5.060 5.065 5.079 5.081 5.082 5.089




MR SEL

B/

ne

B 71 (N)
B K
R~ (mm)
B2,

TS

™
300
No
940x30
M8
5.083

TMS
150

93025
M6
5.086

AM
600
No
77x48x55
M8
5.084

AMO
600

Yes
91x52x55
M8
5.088



MR SEL

B/

ne

R~ (mm)

& (ko)

WeF 71 (N)
B2,

TS

Steel base 150
9150x20
2.2
4xM6
5.031

Steel base 150
¢150x20
2.2
M8
5.032

Steel base 100 Steel base 100

©100x20 9100x20
1.2 1.2
2xM6 , 1xM8 3xM6
5.040 5.041

Vacumm base
¢p88x27
300
M8
5.090

Granite Base
150x120x50x50
2
M8
5.091



MR EEL

Sl
i R= Clamping base 20sz Clamping base 30sz
R~ (mm) 80x20x50 80x30x50
BAFO (mm) 40 40
B27L 2xM6 2xM8

IJRS 5.202 5.204

&

Clamping base 30K
80x30x45
40
2xM8
5.203

Clamping base 80
150x82x60
80
7] E
5.208



MR SEL

ax “

it Universal Clamp
R~ (mm) 80x45x60
sAFO (mm) 40
L ElColumm D16

T8RS 5.253

Columm S
50/(16
M10/M8
5.481

u|1||

Columm M
300/¢16

M12x1/M8
5.462

Columm L
450/¢16

M12x1/M8
5.469-1

Stop Lid
®20

M12x1
93.690



